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Topic:- Child Development & Pedagogy (CDP)

1) Which of the following statement is true? / A=faf@a & & Fia @1 a7 T §?
1. Growth is only a mental process. / gfg dhadl Tk ARG FHhAT &l
2. Heredity doesn’t affect on learning process. / 3feJaiiRrehdT 3TfRard UfhaT &l GHATIIT Fel |

3. Development is only a quantitative process. / TI®TH hdel Tdh HAACHD UThaT &l
4. Learning is a process of behavioral changes. / Q91 camaeies aRadai $r gfrar gl

Correct Answer :-

« Learning is a process of behavioral changes. / 31U cdeiRes TRAdAT di Ufhar ¥l

2) How many clinical scales were there in the original' Minnesota Multiphasic Personality
Inventory (MMPI)? / #& fAaIer Aedbile q@iod sededl (vAvaAdams) # fraa darfas
A 42

1. Nine / &t

2. Eleven / 7IRE
3.Ten/cd

4, Twelve / T

Correct Answer :-

3) Which one is NOT the Psychological principle of teaching? / ®i &1 w& fa1or &1
Aadaae g @@t 82

1. Proceed from known to unknown. /\_rﬁ ATd ) S RIG P 3R dedl %I

2. Proceed from simple to difﬁcult./\_Tﬁ I T Bfdd hT 3R SISl %I

3. Proceed from complex to simple. / ST Sifedl & T &1 3R T&dT &l


Lenovo
Stamp

Lenovo
Stamp


4. Proceed from concrete to abstract. / St Tl g J&A Fr 3R T&d %’I

Correct Answer :-

» Proceed from complex to simple./Eﬁ JAfeeT & A T 3R T&dT %I

4) Inclusive education is currently a strategy of education based on the based approach.

| gaTQed faw adHAET # mma;mwﬁmﬁwm?hﬁr%l
1. Sympathy / Helgagid

2. Charity / &=

3. Apathy / SaRHdT

4. Rights / 3R

Correct Answer :-

. Rights / 3IfAFR

5) Gender Schema theory was introduced by . / forer Tt (ST F=hAT)
R & GERT TE FHaT 7147 T

1. Jean Piaget / ST s
2. Kohlberg / aﬂ%ﬂm‘r

3. Erikson / TRa&ga

4. Sandra Bem / €TST S

Correct Answer :-

. Sandra Bem / 13T dH

6) According to Vygotsky’s theory, the most suitable instruction to support social learningis ./

aEAcEA & RAgUd & IR, aefaw A & wEdd w9 F Qv g9d sagFa e
gl

1. curriculum / UT&dshH

2. students work together on the task / ST PRI W TH 1Y HIHA Pl %I
3. students’ individual work / BTAT & <Ifhard BT

4. traditional teaching / URURe fRrayor



Correct Answer :-
 students work together on the task / &I P W TH TTY HH R &l

7) What are tests that rely heavily on language based reasoning called? /

AT qHeToT FIAT FEdTd & ST ST IR dheufdad W R Fa &2
1. Accuracy tests /Uﬁ'\’l@?ﬂ Q6707

2. Culture fair tests / {-I{-Gplra 3ol q&ToT
3. Verbal tests / FIf &P gretor

4. Nonverbal tests / GThfceh GI&TOT

Correct Answer :-

e Verbal tests / Al T&h CIff&TUT

8) What aspect of personality makes a child more likely to be outgoing? /
wafFded & 5w 95 & T=2 & ez (Relfe) g & werraem @@ el §2

1. Extraversion / aﬁ-’cﬂ'@ﬁT
2. Introversion / HH%EHT
3. Socialisation / HHTSIIHIOT

4. Neuroticism / Wﬁiﬁﬁ

Correct Answer :-

 Extraversion / Elﬁ-?i'@T-ﬂ

9) Bandura’s 4 principles of social learning are: / WTHIfA® 3R F 930 & 4 Ay 58 ¥R &
1. Metacognition, Attention, Engagement, Motivation/ WQH, &1, Ss1d, ROt

2. Retention, Cognition, Attention, Motivation/ gfaaror, 3'1?1’3@, &1, UROT

3. Attention, Retention, Reproduction, Motivation/ €T, ‘;Iﬁ‘il'l'\"UT, Uoldd, ROt

4. Attention, Engagement, Collaboration, Motivation/ 1, SJgId, ?l'eﬂﬁ, oRoT

Correct Answer :-

» Attention, Retention, Reproduction, Motivation/ €T, UfduRoT, g, Uom



10) Adolescences form their own image and integrate their own ideas as to how they wish to be referred
to, this is /AR Il FaT Y BT qard § AR 39t F@F F AR A thFa w7 § &
¥ FH E Weiid 1 98d &, I8 Fedrdl ¢

1. Crisis / d&c

2. Ego identity / 3% U
3. Ego ideal /378 3eeY

4. Ego / 37§

Correct Answer :-

o Ego identity / 3% UgAT

11) At what age does the child learn to control the expression of emotions? / HTEATHT Y AfRIFT Fr
frafia Far sear frw Iy & e @2

1. Adolescence / fopeMRTaEaT
2. Birth to two years / STedH T Y a¥ dp
3. Late childhood / T%I dTeImrdEAT

4. Early childhood / URfH& dreamasam

Correct Answer :-
« Early childhood / UR{&$ arearasar

12) Which of the following theories acts as a bridge between behavioral and cognitive learning theories?
/ farafaf@a & & Fie- a1 Ry sqaer 3R Fararens st Rguiat & & ve @q F1 F13 Far
&

1. Humanistic theory / ATAGATITET (AT Ech) Rgled

2. Cognitive development theory / ETATCHD ThrT Fgled
3. Social learning theory / AT 3 TATH RAgled

4. Existential theory / 3edca Bgled

Correct Answer :-

« Social learning theory / GTHTToIh TAIH FAgr=d

13) Which of these statements is true with regard to aptitude and competence? / IH U PiA-AT FUA
Aegar 3R &AaT F "y #H 9T §?



1. Aptitude is an inborn potential to do something. / & A & oI JTTAT Th AT FHTIAT
(@PreTaa) ¥

2. An aptitude is a developed knowledge. / AT T aefad A §l

3. A competence is a part of an aptitude. / 8T Ueh JITAT BT Th T &l

4. A competence is an inborn potential to do something. / S A & oI &TATT Th ST THTAT
(PTAETHAT) B

Correct Answer :-

* Aptitude is an inborn potential to do something. / $& A & [T JIYAT Th AT HHTIAT
(FreTadn) T

14) Which chart shows that the highest return of investment in education is maximum during the early

years? / PIT-TT 3@ gauiem § B qeaneht aut & ke Rram F e w1 Reet siftwasw ¥
1. Heckman’s / §haiel

2. Wisconsin’s/ Ta&hifeaeT

3. Hurlock’s/%??vﬁ?ﬁ

4. Puberty’s / TlaeTdr

Correct Answer :-

e Heckman’s / %‘cﬁﬁ?-r

15) Who introduced the term L.Q. (Intelligence Quotient)? / fFua 3M§. 7Y, (F5f&r 39areyan) ug
wfaufe frar?

1. Terman / &

2. Galton / 3eca

3. Binet / fda¢

4. Guilford / Fra®Is

Correct Answer :-

e Terman / e

16) The psychologist who discovered that children’s perception of reality is not learned from adults but
is constructed is: / 9 AANAANAF fHHA TaT AT 6 g4 F TEAAFAT H UROT TITH T G
de s &, AP e @[Ar R Jar @) @ E



1. Jean Piaget / Sfied TOITS

2. BF Skinner / & Th &Rk

3. Amnold Gesell / 3TTes Tl
4. Howard Gardner / {—'?I_cl'lé M

Correct Answer :-

« Jean Piaget / Sii O

17) During which stage do children start reasoning? / fF¥ 3aTAT H TT dh HFIAT AE T &2
1. Adolescence / TeRIRTaEUT

2. Late Childhood / 37X dTedrasAr

3. Infancy / QraraEar

4. Early Childhood / Q& dTeareae

Correct Answer :-

e Late Childhood / 37X dTeITdEAT

18) Teachers should take a/an rather than group perspectives when
considering diversity in the classroom./ & &TT # Rfetar w AR A,
et 1 W F TRCHIOT F TOT TH & TfeHIorT 1 eI @l
Iifevl

1. Group factor / HIg hRD
2. Opinion / 3TTRHAT
3. Student / T

4. Individual / STt

Correct Answer :-

« Individual / SgThaTa

19) Which of the following is not an aspect of metacognition? / fFafifaa & 9 w1
Hha (ASTHTHIRM) T TP U Tl 872

1. Altering consciousness/dcell H oIl




2. Revising cognitive strategies/H<TellcHd I0TATAAT Pl TMAT HIAT
3. Planning cognitive strategies / HATATCHD I0TATAAT T ANSAAT FATAT

4. Monitoring cognitive strategies / H<leATcHD IOTATAAT T AIRTAT B

Correct Answer :-

« Altering consciousness/dclell 3 STl

20) Which of the following is not true about the teaching process? / fafafaa o
Rreqor uftrar & 9 o w1 94 T8 82

1. Teaching is the process with a purpose to bring about learning. / T1&T0T Uh 3227 &b AT 3 TAITH
1 uferar &l

2. Teaching does not sway the whole process of learning. /@Wﬁmiﬁﬂmﬂﬁﬁ
el

3. Teaching does not need a formal set-up. /@W%WWW@M?W@%I
4. Teaching should be centred around student. / fRI&0T ST & -0 dfad 891 1T

Correct Answer :-

« Teaching does not need a formal set-up. / fRI&T0T & ferw NGRS giaare ol IMaRTHdT 7 T

21) Which of the following does not apply to the brainstorming process? /

frufafad & @« fa=r fawef uftear & e arp 78 Sar 82

1. Generation of unusual ideas. / SATHY EEIRED ol |
2. Criticism of ideas. / Ta=RI &1 M@
3. Associating different ideas to come up with a new one. / T & 1Y 3 & ford faf faaRt &1 Sre|

4. Quantity is more important than quality. / T[OTGT &1 a1 H AT 31 Ag@yuf 3|

Correct Answer :-

« Criticism of ideas. / faaRI &t TeA=ATI

22) According to Martin and Halverson, when young children observed gender inconsistent
behavior, they tend to have:

| FfEe 3R PoaET F IHER, I B Fedl A AT F HAIT qIER F IqAlwa
ar 3o I§ wgi or:



1. A distortion of memory/ H{% Hr ia?gié

2. An accurate memory / Uch Heldh i

3. A rejection of the behavior/ STa@R &l &P

4. An imitation of the behavior/ TIdeR Pr Thd

Correct Answer :-

« A distortion of memory/ Hf &I faepia

23) What problem do children with anorexia nervosa typically have? /TaARTFEaT Aafar &
affa s=at 1 At ¥ ¥ Far FAEar g 82

1. Problems with impulse control / 3TTd9T @I=0T & ATY FHATAT
2. Problems with body image /2R UTdAT & ATY FAEIT

3. Reduced physical exercise / & RS cIrmaT

4. Excessive eating / 37cafUd HISTA BT

Correct Answer :-
« Problems with body image /2RI UfddHAT & TTA AT

24) What is more likely to help a child remember.a story. by Tagore? / &R GaRT Tsh Ferel
I G I@S H T8 A Agg T A AUF AT F741 §?

1. The moral of the story / &gl &7 Afdd
2. The size of the story / &elAT &I 3THR
3. The font of the letters / 37&RT & Hiec

4. The colour of the title /e AT T

Correct Answer :-
o The moral of the story / Tl &1 ATcdh

25) Eliminating caffeine and sugar from diet before bedtime ensures - / §lst ¥ Uga 3R &
FheT 3 Af B gATCT FE 58 gARET Fwar €

1. Reduction in stress / daTd & haT

2. Good functions of muscles / ATTUTAAT &H agaq Uhry



3. Good sleep / 3T i

4. Good absorption of nutrients / GQT¥eh Tcdl T TS AMNYOT

Correct Answer :-

« Good sleep / 3TTHI =ig

26) How information is typically stored in semantic memory? / 3[TH R R 3rfra
wfa (Rrfes am) & e 9 Tudla gidt 82

1. Networks/ m
2. Skills/ @piereT
3. Tasks /13t

4, Groups W

Correct Answer :-

e Networks /ﬁ cd E|5|

27) Mild retardation is a category of mental retardation having an IQ of ./

qg Yadl AFIR® Hear Bt vt @ R U1 aigeg gt 21
1.70t0 89 /70 H 89 dh
2.20t029 /20 ¥ 29 dd
3.50t069 /50 ¥ 69 dd

4.30t049 /30 & 49 dH

Correct Answer :-

¢ 50t069/50 ¥ 69 deh

28) To improve the problem solving skills in children, which of the following

things can be done?/ T=I ®1 THTSM I YA & HINA T JUR HH & T,
fFrafafeaa o & T fFar sn 9w 32

1. All of the above / 3Uh Y

2. Invite children to talk or write about ideas only / hdel TITRT & IR H a0 I IT @ &
forT g=at & 3T &



3. Ask children to draw pictures for stories only / I<al & hdel el & forv T T &t
e |

4. Use blocks and models only / el selich iR HAiselT T ST P |

Correct Answer :-

« All of the above / U HHT

29) Inclusive education means: / GHTARN fRI&T &7 3 8:

1. Education for all children in school. / ¥bd Aot g & ﬁﬂ! fRrem| aTaRh e o1 oref %:
2. Education of intelligent children. / it =il &1 g

3. Education of the poor children / TRIS =i &1 278

4. Education of the minorities / SRR | B R8T

Correct Answer :-

« Education for all children in school. / ¥hd & ot gt & forg Rrefm) wHaRi Rien &1 o §:
30) GAD stands for: / Sgs! &7 314 §:

1. Genetic Anxiety Disease / 3TI§?«I'T-Q\I?F =Idar I9T (SAfeh Tamsc BaeT)

2. Genetic Anxiety Disorder / 3TIdRI® il fd@R (SHfe® Tongel fSwiler)

3. Generalized Anxiety Disorder / HTHAEAGd AT [APR (SAcsss Tager BE3ER)

4. Generalized Anxiety Disease / ATHICIIH IEGIREN G ECIECERYCIEAREIS)
Correct Answer :-

« Generalized Anxiety Disorder / ATHT=AIpd IdT faPR (Sarsss Tomger fBE3iER)

Topic:- General Hindi (L1GH)

1) &R € wrerifa fe emel

T 919 Hgd AYH &, THER I UT|
T 3ifd TR g Ul €, 99 TE U veru|
¢t g o oY ST, SNT-H3H e
ST YA AT 3T &, IR R St U@



3F 3(U T B UTSE, I9d 9 §d RI¢I

o Y rifa B¢ 3y, & SR orfifa geul

ST SR N TR YR, S Ul 7 WAIfE Fare|

ST UL $I UgH 1 TR WH a1 YA BT IR a13¢l
UY: ‘Stad YUY BT 71 Weard 82

1. gFI-fRa &

2. 590 ¥ RIS AL

3. 91 Srerdr oAt

4. 4u fEerdr o

Correct Answer :-

« FHAI-RT &

2) gf¥ & Ioifa ufe el

T 910 Bed AYH &, GHER T4 YT
3% 3fd Ige ga ufee &1, o/ & Y ueru|
T¢I gf S it 3@, SRT-iGH US|

S WA AR 3R &, W fRa Siea el

3F 3T T B UTge, Tod F §d GRIC|

A T ST BY YA, & SR Sl goTwI
IS RA < T8 G, S U1 9 S1E e
ST TR B UgH A TR A a1 U BT IR Ja1stl
uY: ‘5% 3ifd IR g ufed & | A aread 82
1398 & PIg FE

2. IR AT TH B &

3. I BT T G B

4.Th df I Ugel ¥ & T &

Correct Answer :-

« Th dl d Uged @ & TR B

3) R & worifa ufe s



TqEf 91d SEd AYHR P, FHAER T4 UQ|

3% 3fd Ige ga ufeel &, o & vy veul

T¢I gf S it @Y, SHRT-7eH ysTu |

S WA AR 3R &, W fRa Siera gl

3F 3 7T BR UTSE, Iad J g qRICI

o T erfifa ®¥ 3y, o iR Srfifar geTUI

IS RA < T8 G, S U1 9 S1E e

SUTd U FI UgHR -9 UD WA a1 U= $T IR Farsu|
TY: 3T [E Y YT H MGT {59 Iy B 3R Jdbd 7 T 72
1. Ty Fifed & 3R

2. @t & ufas getgiy & AR

3.9% & WAL A Ue T TY H IR

4, fopdY 3T &

Correct Answer :-

o I% P FACT H TS T JY H IR

4) gf & weifa ofe amu)

Ui 919 Fgd AYDR &, TR 94 UY|

7 3fd IR g3 ufee €, o T 3 e

I gf S it 391, SIRT-iH UsTu |

St U TR 3T &, W 7 Shea |

3F 3U T B UTgE, g9d 9 §d RI¢I

o Y rifa B 3y, & SR orfifa gl

ST SR N TR YR, S WSl 7 WAIfE Fare|

ST UL $I UgH - TR WH a1 YR BT IR a1s¢|
" MG & AR IS BT YH T FHT AT

1. 873 ¥ F U ]|

2. ST & g9 o 3R IS W S AT F A S
3.9 & forw faerd |

4. TSI T gTeled P




Correct Answer :-

o TS T FY o 3R U W B 3’ F 3 S|

5) g § Wi ufe smyl

et 9T BEd AYFR F, FHGR FE UIT

3% 3fd Ige ga ufeet &Y, 9@ & Wy verul

9 gf S it 3@, SRT-7eH yaTu |

S YA AT M P, W R Shera Yrg|

3F U T B UTSe, T9d F g YR

Y 3 fifay B 3y, & 8iiR erfifa g

IS RA < T8 G, S U1 7 S1E e

ST TR $I UgH - TR T I U BT IR sl
wY: M 7 fPad Areay A $7 ST 3= WS W BT YT foman 32
1. It

2. Pleel

3.3¢d

4, 3= MUl

Correct Answer :-

6) &R & IerfY ufe ey

gEht 9T FEd AYPR H, TUER TS U

7 3f IR g3 ufee €, o To 3 e

T¢I gfS o & IS, FT-HeH veTu|

St U TR IR &, W fFa Shea |

3F 3 7T BR UTSE, Iad J §d qRITI

o Y rifa B¢ 3y, & SR orfifa gl

ST SR N TR YR, S UoTT 7 WAIfE Fare|

ST U $I UgHR -7 ID T I1d U= $T Ik Jarsy|
oy MU 7 = a1 argd A P W+ faam?



1. ¥l 3€a &l

2. 9TaT ¢ Y

3. 3%k HATAT HH Bl
4. 3% HIS ToRTHA &l

Correct Answer :-

o AT 3Gd Pl

7) &R ¥ weifa ofe ey

Uit 919 Fed HYHR &, TR U UY|

7 3ifd IR g9 ufed &, o T 3 veTw

I g S & I, TT-HeH veTu|

S Wa TR SR &, W fEa Siera gl

3T 3 7T BR UTSE, Iad J gd IR

o T SFfifa BY MY, o SR Srifa geTUl

ST SR N TB YR, Sl WSl | SAife qare|

STTd U= Pl UgHR A9 U9 W1 aTd U= $T I} Tarsy|
UY: HT A MY & o1 "ST-H3H UsTe’ »1 FTHGad 82
1. FeT-Her ferarn

2. A A-facld A B Bel

3. PUTAHATIT & a1 H

4, JEMEATT IATAT

Correct Answer :-
« NT-HSQ THSTara

8) gt & Jerifa ufe smu|

TS 910 Bed AYH &, GHER I YT

3% 3fd Ige ga ufeet &, o & Wy verul

T¢I gf S St 3@, SRT-7eH ysTu |

S WA AR 3R &, W fRa Siera gl

3F 3 A BR UTsE, Iad J g qRICI



o Tt SrFfifa ®¥ 3y, o iR ofifa geTUl

ST SR @ T@ YR, Wi Yol 7 WAIfE Fare|

STTd U= $I UgHR A9 IR W1 a1 U= $T I} Tarsu|
TY: FOT A U gd B FT WA 32

1. TSTeifden ardl aa

2. 919 & foT

3. FeeAldd HRAS & forw

4, MTUTT T FTA-ATT AT

Correct Answer :-

9) &R & werifa ufe amui

et 9T BEd WYFR F, FHGR FY UIT|

3% 3fd Ige ga ufeet &), 9@ T Ty verul

9 gf S it 3P, SRT-vieH gaTu |

S YA AT M &, W R Sherd emel

3F U4 T B UTse, IAd F g IRIC

A T Srfifa B Sy, & SR Srifa geTUl

IS R < T8 G, S U 9 S1E e

ITed U HI USHR Y IS W1 9T U= $T Ik ga13¢|
UY: 39 UG & 3id | g Mg A A Ffa &1 T aread 82
1. e Afa &

2. AT

3. Afafed

4, I

Correct Answer :-

10) &R & Terifa ufe ey
Feh 979 Ped GYPR >, YUER TG T



3% 3fd Ige ga ufeet &, 9@ & Ty verul
T¢I gf S it 3@, SRT-7eH ysTu |

S YA AT M P, W R Shera Yrg|

3T U T B UTSe, T9d F g YR

o T erfifa B 3y, o iR erfifar geTUI
IS RA 1 T8 G, S U1 7 A1E e
ITed U HI TSP IR IS W 9T U= $T Ik ga13¢|
Y: 39 UG § W g "0 B’ &1 o 32
1. ST AT end & §

2. [T AT R & 'l

3. foater 71 R A& & &1

4. A Pl wel IR AT

Correct Answer :-

o AT P Pl IR AT

11) &R & Treriifa afe emes

Uit 919 Fed HYDHR &, TUER 94 UQ|
3 3ifd IR g4 ufed &1, 99 T 9 eI
I g S & I, FT-HeH veTu|
St U TR I &, W fFd Shea 4|

3T 3 7T BR UTSE, Iad J gd qRICI

o T SFfifa ®Y MY, o SR Sfifa geTUl
ST SR @ TR R, S Ul 7 g Fang|
STTd TR Pl UgHR A9 IR W1 a1 U= $T I} Tarsy|
WY: 9 Ug H aR-IR gR fHus! o1 mar g2
1. a1

2. 9Tl S Wl

3. ooyt

4. U Y

Correct Answer :-



12) &R & rerifa afe eme

i 919 Hed AYH &, GHER I UT|

T 3ifd TR g9 Ul €, 919 T Uy veru|

¢t g o oY ST, SNT-H3H e

St U TR 3T &, W fFd siea |

3F 3(U T B UTSE, I9d 9 §d qRI¢I

A T erfifa B 3y, o 3R erfifa geTUl

ST SR N TR R, S WSl 7 e Fare|

IWe U FI TSP 1Y IS W1 9T U= P Ik a5t
TY: 39 BiaaT § ‘AYDY’ s [Tk e ugaa gan 22
1. /Y 3R Mt gRT 3ga & forg; o=t & & €
2. PoUT I RRA & faw

3. dhaa #R & foT

4. Pac MUG! gRI Igd b oy

Correct Answer :-

. #l 3R M g’ 3€a & fow; aat oam €
13) &R & rerife afe emg

TSl 919 Hod AYHT &, JHER 99 Y|

3% Afd IR ga ufed &, oF T UY ugIu|

941 9fF St o I, - yeT

S WA TR SR &, W fRa Siera gl

3T 3 7T BR UTSe, Iad J g qRICI

A R orfifa B oMy, & SR FRfY geTUl

IS ERA < T8 G, S YT 9 A1E Fan|

SUT UL FI UgHR -7 ID WA a1 U= $T Ik Farsu|
wy: for aa A it 3t fave & &t &1 &1 far
1. ATAT-Tar &1 oy

2.3¢d @ ANEHA IR AT W AgF07 FHr I




3.0 ¥ fagmr
4, grAfSS oy

Correct Answer :-

o 3gd & ANEHAA IR A W Fg=or Hr dw

14) &R & Iroifa ufg Sy

et 9T FEd AYFR H, TUEAR A U

$% 3Hfd IR gd Ufed B, 919 ¥ UY UgTu|

9¢t g o oY ST, SINT-H3H eTu

St U TR IR &, W fFd Siea |

3F 3T T B UTSE, I9d 9 §d RITI

A T Sfifa B 3y, o 3R erfifa geTUl

ST SR N TR R, S WSl 7 WAIfE Fare|

ST UL $I UgH i TS WH a1 U BT IR Ia1stl
wy: R A WG 7 S} fpa! Mt & ur At fean?
1. JoRTH &I

2. gaTAT &l

3. 3T I

4. 3€d &l

Correct Answer :-

o 3gd &l

15) 9fda #ARTw 1 sl w1 A B Fo wEer H @ amar B 3% ik 3% wnt F Fm wEewm 3@ @
m%maﬁammmmw O W A-Uor F1 el T e ¥ AN S o @ A
forar & § 3k 38 wet 3@ v @@t m%mmmmm%mm:@wmmﬁm
STaT ¥ WT AT g §, 3 wnt safav a9 ggr fF 3 30 # fcr-ufa w1 gEeER @ e €, 39 W @
faca-afa qu-wFEe saar &1 N Fo @, A 39 3N s F1 gy = @Fwr ) 75 99 7S F W &
qEaF ared F qF v 38 e A ff| a AX 39 W vF 7GR aF v g @ A g3 3w e #@r
gﬁsa@maamlmﬁmﬁ@qﬁm%&mwmlﬁt@ﬁmaﬂémaﬁﬁ?wﬁw%
WIA:HT 351, He-819 U, Tt fnan, faers-aeer oo, g R, aorament @ e, w8 wisa areer I
R atea sftore fmam 3 @R ey SR R 3o, s o, f we R, R fes semr sk s
diaar Tar 4T, diear A e fear 3 @ @ 3§ @ fRwer g3 sreeT 7 W a1 sefav 3w s w
ﬁm#mﬁhmwﬁwﬁWM|m#ﬁéﬂmé a9 ¥ @I-AHTAGHAT FT BEE
mmmmm*mmmmtmmmu
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mm#ﬁwéﬁmmmmﬁmmwbﬁﬁa ¥ & 5w g Tt , A
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Topic:- General English(L2GE)

1) Fillin the blank with the correct option in the given sentence:

When many people work together, they are said to --operate.
1. dis--
2. co--
3. de--

4, in--

Correct Answer :-



2) Fill in the blank with the correct option in the given sentence:

I am too scared of poison-- snakes. What about you?

1. --ful
2. --ing
3. --ed
4. --ous

Correct Answer :-

3) Read the poem and answer the question given below:

I remember the long homeward ride, begun

By the light that slanted in from the level sun;

And on the far embankment, in sunny heat,

Our whole train's shadow traveling, dark and complete:

A farmer snored. Two loud gentlemen spoke
Of the cricket and news. The pink baby awoke
And gurgled awhile. Till slowly out of the day
The last light sank in glimmer and ashy-grey.

I remember it all; and dimly remember, too,

The place where we changed - the dark trains lumbering through;
The refreshment-room, the crumbs and the slopped tea;

And the salt on my face, not of tears, not tears, but of the sea.

“Our train at last! said Father, Now tumble in!
It's the last lap home!' And I wondered what 'lap’ could mean;
But the rest is all lost, for a huge drowsiness crept

Like a yawn upon me; I leant against Mother and slept.

What were the gentlemen talking about?
1. weather
2. fashion

3. Cricket and news



4, music

Correct Answer :-

e (Cricket and news

4) Read the poem and answer the question given below:

I remember the long homeward ride, begun

By the light that slanted in from the level sun;

And on the far embankment, in sunny heat,

Our whole train's shadow traveling, dark and complete.

A farmer snored. Two loud gentlemen spoke
Of the cricket and news. The pink baby awoke
And gurgled awhile. Till slowly out of the day
The last light sank in glimmer and ashy-grey.

I remember it all; and dimly remember, too,

The place where we changed - the dark trains lumbering through;
The refreshment-room, the crumbs and the slopped tea;

And the salt on my face, not of tears, not tears, but of the sea.

"Our train at last! said Father, ‘Now tumble in!
It's the last lap home!' And I wondered what 'lap’ could mean;
But the rest is all lost, for a huge drowsiness crept

Like a yawn upon me; I leant against Mother,and slept.

Where did they change trains?
1. atalevel crossing

2. at a village

3. at a station

4. at an unscheduled stop

Correct Answer :-

® ata station

5) Read the poem and answer the question given below:

I remember the long homeward ride, begun

By the light that slanted in from the level sun;

And on the far embankment, in sunny heat,

Our whole train's shadow traveling, dark and complete.



A farmer snored. Two loud gentlemen spoke
Of the cricket and news. The pink baby awoke
And gurgled awhile. Till slowly out of the day
The last light sank in glimmer and ashy-grey.

I remember it all; and dimly remember, too,

The place where we changed - the dark trains lumbering through;
The refreshment-room, the crumbs and the slopped tea;

And the salt on my face, not of tears, not tears, but of the sea.

"Our train at last! said Father, ‘Now tumble in!
It's the last lap home!' And I wondered what 'lap’ could mean;
But the rest is all lost, for a huge drowsiness crept

Like a yawn upon me; I leant against Mother and slept.

When did the homeward journey begin?
1. midnight

2. noon

3. evening

4. morning

Correct Answer :-

® cvening

6) Read the poem and answer the question given below:

I remember the long homeward ride, begun

By the light that slanted in from the level sun;

And on the far embankment, in sunny heat,

Our whole train's shadow traveling, dark and complete.

A farmer snored. Two loud gentlemen spoke
Of the cricket and news. The pink baby awoke
And gurgled awhile. Till slowly out of the day
The last light sank in glimmer and ashy-grey.

I remember it all; and dimly remember, too,

The place where we changed - the dark trains lumbering through;
The refreshment-room, the crumbs and the slopped tea;

And the salt on my face, not of tears, not tears, but of the sea.

"Our train at last! said Father, ‘Now tum